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QUESTION 1

You are building a RDMA cluster on a private network with 10000 cores. What CIDR will work in the VCN:
172.16.0.0/167?

A. 172.16.32.0/23
B. 10.0.1.0/23
C. 172.16.32,0/16
D. 10.0.1.0/24

Correct Answer: A

QUESTION 2

Which performance benchmark tool CANNOT be used to measure 10 throughput for Linux based filesystems?
A. IOR

B. 10500

C. Vdbench

D. FIO

E. iPerf

Correct Answer: A

QUESTION 3

Which benchmark is important to a customer when considering Olg Data workloads on Oracle Cloud Infrastructure
(ocn?

A. TPC-DS
B. TPC-DI
C.TPC-C
D. Terasort

Correct Answer: B

QUESTION 4

A customer has decided to use Oracle Cloud Infrastructure (OCI) for their Disaster Recovery (DR) site for an on-
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premises Hadoop cluster. They have an RPO of 4 hours, and an RTO of 1 hour.
Which two options should they consider on OCI to meet their DR requirements?
A. Replicate data to OCI Object Storage every hour.

B. Replicate data to a Hadoop cluster running on OCI in near-realtime.

C. Use Terraform to rapidly provision Hadoop Cluster on OCI.

D. Replicate data to OCI Object Storage in near-realtime.

Correct Answer: C

QUESTION 5

Which is NOT an advantage associated with moving a Big Data workload to Oracle Cloud Infrastructure (OCI)?
A. managed service offerings to support common Big Data workloads

B. best price / performance for Big Data workloads In the Cloud

C. availability of Oracle Airflow

D. Object Storage as Data Lake

E. dynamically scale capacity against workload

Correct Answer: A
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